Emergency Repair of 48" Diameter Pipe at the SRWWTP BID FORM

Estimated quantities listed are for information and tabulation purposes only. No warranty or guarantee of quantities needed is given or implied. It is understood that the Contractor will furnish the City's needs as they arise.

	16" Diameter Bypass				
ITEM NO.	PAYITEM	UNIT	QTY.	UNIT PRICE	COST
01	Install a 16" Diameter Bypass System, including an 8 MGD/20 PSI pump, remove after project completion. (including mobilization/demobilization)	LS	1	\$50,000.00	\$50,000.00
02	Operation and maintenance of bypass	Week	4	\$30,000.00	\$120,000.00
				SUB-TOTAL	\$170,000.00
	Guard House Relocation				
ITEM NO.	PAY ITEM	UNIT	QTY.	UNIT PRICE	COST
03	Disassemble and relocate Guardhouse, to other location at SRWWTP	LS	1	\$10,000.00	\$10,000.00
				SUB-TOTAL	\$10,000.00
	Discovery and Repair				
ITEM NO.	PAYITEM	UNIT	QTY.	UNIT PRICE	COST
04	Dewatering, including permitting and sedimentation tank	LS	1	\$65,000.00	\$65,000.00
05	Uncover and inspect 48" Pipe up to 100LF	LS	1	\$750,000.00	\$750,000.00
06	Uncover and inspect 48" Pipe beyond 100 LF item	LF	400	\$306.00	\$122,400.00
07	Point repair of 48" RCP up to 100 LF, including all labor, equipment and material (including connection fittings/adapters). Backfill, compaction and site restoration.	LS	1	\$180,000.00	\$180,000.00
80	Point repair of 48" RCP beyond 100 LF including all labor, equipment and material (including connection fittings/adapters). Backfill, compaction and site restoration.	ŁF	400	\$862.00	\$344,800.00
09	Point repair of 48" PCCP up to 100 LF, including all labor, equipment and materia (including connection fittings/adapters). Backfill, compaction and site restoration. (Alternate)	LS	1	\$400,000.00	\$400,000.00
10	Point repair of 48" PCCP beyond 100 LF (Alternate to Bid Item) including all labor, equipment and materia (including connection fittings/adapters). Backfill, compaction and site restoration. (Alternate)	LF	400	\$3,055.00	\$1,222,000.0
11	Furnish and install 48" PCCP/RCP Line stop, including access pit, shoring, dewatering, concrete pour to support line stop (if needed), fill disposal, backfill and site restoration	EA	2	\$505.00	\$1,010.00
12	48" PCCP/RCP Line stop weekly maintenance/rent cost	WEEK	4	\$100.00	\$400.00
				SUB-TOTAL	\$3,085,610.00
	Restoration				
ITEM NO.	PAY ITEM	UNIT	QTY.	UNIT PRICE	COST
13	Furnish & install 1" pavement, Permanent, Type S-III (Structural Course)	SY	250	\$70.00	\$17,500.00
14	Electrical work needed to disconnect and reconnect 2 light poles adjacent to work area. Includes all labor, material and equipment to perform work and restore site.	LS	1	\$5,000.00	\$5,000.00
				SUB-TOTAL	\$22,500.00

Emergency Repair of 48" Diameter Pipe at the SRWWTP **BID FORM GENERAL CONDITIONS AND ALLOWANCES** ITEM NO. **PAY ITEM** UNIT QTY. UNIT PRICE COST Owner's contingency 15 AL \$ 350,000 \$ 350,000 16 Maintenance of traffic LS 1 \$5,000.00 \$5,000.00 17 Mobilization for explore and repair work LS \$250,000.00 \$250,000.00 18 Demobilization for explore and repair work LS \$130,000.00 \$130,000.00 1 19 Permit, Licenses, Fees and Material Testing Allowance LS 1 50,000 \$ 20 As-built and record drawings LS \$10,000.00 \$10,000.00 21 Consideration for indemnification LS 10 \$ 10 SUB-TOTAL \$795,010.00 GRAND TOTAL \$4,083,120.00

GRAND TOTAL IN WRITING:			
FOUR MILLION EIGHTY THREE THOUSAND ONE HUNDRED TWENTY	DOLLARS	ZERO	CENTS
LANZO CONSTRUCTION COMPANY			
COMPANY NAME	DATE:	12/19/2022	
AUTHORIZED SIGNATURE	_		
ROBERT M'SWEENEY, VICE PRES	iden		
PRINTED NAME AND TITLE			





LANZO CONSTRUCTION CO., FLORIDA RESOLUTION OF CORPORATION

I HEREBY certify that I am the duly elected and qualified Secretary of Lanzo Construction Co. Florida, a Florida Corporation and that the following is a true and complete copy of a Resolution duly adopted at a meeting of the Board of Directors of said Corporation, held on the 27th of January 2022 and that such resolution is still in full force and effect.

RESOLUTION, that the officers listed below are authorized to sign Contracts, Bids and any other documents to carry out the business of the Corporation.						
Name	Title	Signature				
Giuseppe D'Alessandro, Sr.	President	11/V				
Kevin Pawlowski	Vice President/Treasurer	12				
Chris Peyerk	Executive Vice President	Malla				
Paul Navetta	Vice President/Secretary	12NG				
Matthew P. Tilli	Vice President	Mathley P. Till				
Robert McSweeney	Vice President	134 AD				
Giuseppe D'Alessandro, Jr.	Vice President	23				
Salvatore D'Alessandro	Assistant Secretary	C C C				
		20				
Ernest Duncan	Assistant Secretary	cold				
James M. Tilli	Assistant Secretary	1.11				

IN WITNESS WHEREOF, I have hereunto set my hand as Secretary of said Corporation and affix the Corporate Seal on the 27th of January 2022.

Paul Navetta, Secretary

Attest:

Kevin Pawlowski, Treasurer

125 SE 5th Court **♦** Deerfield Beach, FL 33441 **♦** Phone (954) 979-0802 An Equal Opportunity Employer



2022 FLORIDA PROFIT CORPORATION ANNUAL REPORT

DOCUMENT# 681458

Entity Name: LANZO CONSTRUCTION CO., FLORIDA

Current Principal Place of Business:

125 SE 5TH COURT

DEERFIELD BEACH, FL 33441

Current Mailing Address:

125 SE 5TH COURT

DEERFIELD BEACH, FL 33441 US

FEI Number: 59-2011933 Certificate of Status Desired: No

Name and Address of Current Registered Agent:

D'ALESSANDRO, GIUSEPPE SR. 125 SE 5TH COURT DEERFIELD BEACH, FL 33441 US

The above named entity submits this statement for the purpose of changing its registered office or registered agent, or both, in the State of Florida.

SIGNATURE: GIUSEPPE D'ALESSANDRO SR 01/24/2022

Electronic Signature of Registered Agent

Date

FILED Jan 24, 2022

Secretary of State

4653881124CC

Officer/Director Detail:

Title VP Title AS

NameTILLI, MATTHEW PNameBEATY, ROBERT 111Address660 UNION AVEAddress1864 GOLFVIEW

City-State-Zip: CRESCENT CITY FL 32112 City-State-Zip: S. DAYTONA FL 32119

 Title
 VP/CFO
 Title
 ASST. SECRETARY

 Name
 PAWLOWSKI, KEVIN J
 Name
 DUNCAN, ERNEST

 Address
 125 SE 5TH COURT
 Address
 521 SE 5TH COURT

City-State-Zip: DEERFIELD BEACH FL 33441 City-State-Zip: POMPANO BEACH FL 33060

Title ASST. SECRETARY Title PRESIDENT

Name TILLI, JAMES Name D'ALESSANDRO, GIUSEPPE SR.

Address 125 SE 5TH COURT Address 125 SE 5TH COURT

City-State-Zip: DEERFIELD BEACH FL 33441 City-State-Zip: DEERFIELD BEACH FL 33441

Title VP Title ASST. SECRETARY

Name D'ALESSANDRO, GIUSEPPE JR. Name D'ALESSANDRO, SALVATORE

Address 125 SE 5TH COURT Address 125 SE 5TH COURT

City-State-Zip: DEERFIELD BEACH FL 33441 City-State-Zip: DEERFIELD BEACH FL 33441

Continues on page 2

I hereby certify that the information indicated on this report or supplemental report is true and accurate and that my electronic signature shall have the same legal effect as if made under oath; that I am an officer or director of the corporation or the receiver or trustee empowered to execute this report as required by Chapter 607, Florida Statutes; and that my name appears above, or on an attachment with all other like empowered.

SIGNATURE: KEVIN J PAWLOWSKI VP 01/24/2022

Officer/Director Detail Continued:

 Title
 EXECUTIVE VICE PRESIDENT
 Title
 VP, SECRETARY

 Name
 PEYERK, CHRIS
 Name
 NAVETTA, PAUL

Address 125 SE 5TH COURT Address 125 SE 5TH COURT

City-State-Zip: DEERFIELD BEACH FL 33441 City-State-Zip: DEERFIELD BEACH FL 33441

Title

ASST. SECRETARY

Title VP

Name MCSWEENEY, ROBERT Name TORRES, PAUL JR.

Address 125 SE 5TH COURT Address 28137 GROESBECK HWY

City-State-Zip: DEERFIELD BEACH FL 33441 City-State-Zip: ROSEVILLE MI 48066